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��� �� �����	������� ��������������� �
��	�� �	�
����		
� ������ ���"���	�� #��
�		�� 	� �������

����	��
�	�� �������	���������� ���	�������

�������� ��	�
$ ��		�� #��
�		��% 
���
�	�� �������	��������� ���	������% ��
����������� ��	��

����% ����
�	�% ����������� 
���% ����	�� ������	���

��
�$ &'�(&�)*% +,�,&�)-% +.�/&�0 /(�(1�23

�� 	����������� � !"����# $%# �"� &��'%(")& �!���*

���� 
����
��
 �
������������� ���
����� ��������
���

���������� ���������� ���������� ������������� ������  �����!� "������� #���$�%

ds2 = a2(η)(dη2 − dl2) = dt2 − a2(t)dl2, #���$

fa(x
i, pk) = fa(t, p), #��	$

&��%
p2 = −gαβp

αpβ , (α, β = 1..3) #���$

' ! ����� �������!�&� ���)�*��� ������ ����!�� !��������!�� )�� ����� +�℄#���$ ���������*��
���������- ���������- ������������. #��	$ �������/�  �� #�����0����� ���  +	℄1 +�℄1 +
℄$%

∂fa
∂t

− ȧ

a
p
∂fa
∂p

=
1

√

m2
a + p2

∑

b,c,d

Jab⇆cd(t, p), #��
$

&�� a(t) ' ���2��0��. ��!��� �����!� "������� #���$1 Jab⇆cd(t, p) ' ����&��� ������-��������-
���!��. +�℄1 +3℄%

Jab(t, p) = (2π)4
∫

dπbdπcdπdδ
(4)(Pa + Pb − Pc − Pd) #���$

× [(1 ± fa)(1 ± fb)|fcfd|Mcd→ab|2 − (1 ± fc)(1 ± fd)fafb|Mab→cd|2 ],

���!� ± ���� ���� )/� 0������ #+$ � ��������� #−$1 Mi→f ' �� ��������� ������)�� ���������
#����� �������� )��������� �� ���������� ����������� ������$1 dπa ' ������� ����. 4������
�05��� ���)�*���&� ���������� � a6��. �������%

dπa =
√−g

ρadp
1dp2dp3

(2π)3p4
, #��3$

ρa ' ��!���  ���7������

�������� ��	�
��
�������������
������������ ��� � �� �!�"# $ ��%�& '����% ()℄� '���� �������� �+��� ��, -��%� ./ +% �,� � ��0���� $1

���"# ��!2 ��� ���3����4 �� �!�"# $ ��%�&� � ��,+%��!2 � ���"����� � ��!.�4 �% � 4����! ����0��4�� 5%
���� 6) 7�, ����4% � ����%+� . 7�8� ��"# ��"/ ��!.4" �. �" � 0��%�&� 93�%�& � :��� � .,�������4� 4�� ��0 �4� 
"�%�� ��, �., � "��"3� �+%���� $���"/#�2 0%���= � 3�%���%=������ ��. >> 9+� ���, ?@A��1 B�+�4%� )6C7� D�
8E� F�C� �� )6G87H �% ���� 681 C ����4% �� �2" ��!.4" �. �" � 0��%�&� 93�%�& � :� �� � .,�������4�$ 4%����0 �4�$
����%.�+� � ���%��%���%, ����0%���0�%, �"�4=�, �%��� � . ��, >> 9+� ���, ?@A��1 B�+�4%� )6C7� D� 8E� F�C�
�� )JG)6H �% ���� 6K1 )8 ����4% ���+" ��!.4" �. �" � 0��%�&� L4"�& M�N� M ����! � 4�%�4�� O� 5%"4%� )6C)� G 7PK ��
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 	���
��� �����������	���� ���	
�������	� ������ 	�������� �������� 	������		
�����������	� fa(t, p)� ��� ��������	� ���� ��������	� 	���
�	�����	� �� 	
�������
 ���� 

����
 �������
 � ��!�����" �	���
� #����� 
���� � !������ 	���
�	�����	� ������	��� $�� 

�������� %���� �&�����
� ����&�������	� '����#� 	 �������� ! ����	���!�� �	���
� !����	���
� 	
�������
 ������������ �����
 � )*℄�,

Jab(p)−
2Sb + 1

(2π)3p

∞
∫

0

qdq
√

m2
b + q2

s+
∫

s
−

ds

1 +
(

m2
a−m2

b

s

)2 · 1

16πλ

0
∫

−λ2/s

dt|M(s, t)|2
2π
∫

0

dϕ×

{fa(p4)fb(q4)[1 ± fc(p4 −∆)][1± fd(q4 +∆)]− fc(p4 −∆)fd(q4 +∆)[1 ± fa(p4)][1± fb(q4)]},


��

∆ = − ts

λ2

[

p4 − q4 − (p4 + q4)
m2

a −m2
b

s

]

− cosϕ

√

− ts

λ2

(

1 +
ts

λ2

)

×
[

4p4q4

(

1− m2
a +m2

b

s

)

− λ2 + 4m2
bp

2
4 + 4m2

aq
2
4

s

]1/2

,

λ(x, y, z) - ���!#	� ����
����	!� ������. s, t  !	��
��	���!	� 	����	���� )�℄ ������� ����/�. p4, q4
- �������� !�
������� 0 	
������.

s± = m2
a +m2

b + 2(p4q4 ± pq).

%�	 $��
 ���&���	
� 	
��� ��	�� ���������	� �����
� �����	� ���	
�������	� )�℄ ����1��
2 �����������	�	���!�
 �������,

pi
mi

→ ∞ ⇒ s

m2
i

→ ∞; λ → s2, ���*�

��3���	�������� ����4��	� ����	������ ����5�"���� 	 	���
��� ����!�����	� ��	�	
��� �	�,

Jab(p) = −2Sb + 1

(2π)3p

∞
∫

0

dq

4pq
∫

0

ds

16π

1
∫

0

dx|F (x, s)|2
2π
∫

0

dϕ× ���6�

{fa(p)fb(q)[1± fc(p−∆)][1 ± fd(q +∆)]− fc(p−∆)fd(q +∆)[1± fa(p)][1± fb(q)]}, ���7�


�� x = −t/s &�����
����� ����
����� )�℄ �������

|F (t, s)|2 = |M(t, s)|2 ����8�

	
∆ = x(p− q)− cosϕ

√

x(1 − x)(4pq − s). ������

���� �����	
	����	� �	
��	����	� ���

�
	� 
 ����	
��

��
����
� ����
����
������ �������
��
�

��	����� ��� ��!�� ��� ����
�����,
p̃ = a(t)p, ������

�������� 	���
����
 ��	4��	� � 
���	!� 9�	�
��� ��
� )�℄� 	 ��	 $��
 ��� �"&�� ���!#		
Ψ(t, p) 	
��� 
���� ������3��	�,

∂Ψ(t, p)

∂t
− ȧ

a
p
∂Ψ(t, p)

∂p
=

∂Ψ(t, p̃)

∂t
, ����/�

����&�����
 !	���	���!	� �������	� ��� ���������� 	��������� �����������	� ! �	��,

∂fa
∂η

=
a

√

m2
a + p2

∑

b,c,d

Jab⇆cd(η, p), ����0�

!��� ���&���	
� �������	�� p = p̃/a�
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�� ��
��
� � ��
�����
� ������� p̃� �����	���� �������� �
��

��
��� �
�
 
�!
������ ���� "#℄�

P̄i = Pi − ∂iϕ; Āi = Ai + ∂iϕ. ����%�

� 
��


��
�� �����	���
�� �

��
������

ds2 = dη2 − dl2

���� ������ ������� �
� �
�


� ��!�	����� �
��
����� �����&��� p� ���'� �
�
 
�!����� �
 !��
��(

p =
p̃

a
. ����)�

*���� 
 
�!
�� �����&���� ��
������� ������� p̃� ���& � �
�+���� ����	��� ��!�	���
�
 �����&��
� �
��

��
 �

��������+,�� �����	���
� �

��
������ �
��
���
� �
���!��� � η - �
�������
��
������� � .�
� �

��
�������

/�
��
��� 	����0� n(η)� � �� .��
���� ε(η)� 
��
�����&�
 �!
�

��
�
 
���
�������� 	����0�
f(η, p) 
�
�����+��� �

������ ���� �

���� "�℄ �'���� � "�℄ �'�����(

n(η) =
ρ

2π2

∞
∫

0

p2f(η, p)dp =
ρ

2π2a3

∞
∫

0

p̃2f(η, p̃)dp̃; ����1�

ε(η) =
ρ

2π2

∞
∫

0

√

m2 + p2p2f(η, p)dp =
ρ

2π2a3

∞
∫

0

p̃2
√

m2 + p̃2/a2f(η, p̃)dp̃. ����2�

3 ���!� � .��� ��
 �
 ������ �
��

���� ��
��
��� 	���� 	����0� ñ(η)� � ��� ��&�
�
����������
���� 	����0 - � ��
��
��� �� .��
���� ε̃(η)(

ñ(η) =
ρ

2π2

∞
∫

0

p̃2f(η, p̃)dp̃; ����4�

ε̃(η) =
ρ

2π2

∞
∫

0

√

m2 + p2p2f(η, p)dp ≈ ρ

2π2

∞
∫

0

p̃3f(η, p̃)dp̃. ����5�

*
��� ���+� ����
 ��� �

��
6����(

ñ(η) = n(η)a3(η); ������

ε̃(η) ≈ ε(η)a4(η); (p/m → ∞), ������

�! �
�

�� ��
�
� ���
������� ��

�
� � ��
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��	����� � ��&�
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� �
��
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7�������� ���	��� ��� 
� ��
�6���� ��
�
������	���
�
 
���
����� � �

�	�� �
����� �
���

��
���� 	���& 	����0� n0(t)� ���
����� � �
��
���� ����
�
�
 
���
������ � ��6& ��� �� 
�&6
�
�
�� 	����0� n1(t) ����
�
� 
���
����� ��
�6��
(

n1(t) ≪ n0(t). ����'�

3 ���&���6��  ���� �
�����&� 	�
 ����0�� 
���
�������� ���
 
���	�+��� 
� 
���
������ �

 ����� ����� !��	���� .��
���� ���&6�� ���
�


�
 �����
�
�
 �
�����
� p = p0 ���� T = T0��
��8� �
�


�
 
���������� ��������� � �
8�� ���&�
 ��
�6��&�� �
� .��
����� ��6� �����
�
�

�
�����(

fa(p) ≈











f0
a =

1

exp(−µa+Ea(p)
T )± 1

, p < p0;

∆fa(p); f0
a (p) ≪ ∆fa(p) ≪ 1, p > p0.

����#�

���� ������	
	� ��
��� ��℄�



�����������	� 
�����
��
�� ������ ���������� ��� ������ �������������� ��

��� µa(t) � ��	�
����� 
���������� T (t) � ��	
������� ����������� ��	
������ 
���	�� ����	
������	� � ������� p > p0 	���� �������� �! ���	�� �� ��� "�� 
���� 
����� 
� ��������� �
����������	 ���
����	� �� 
�� #��	 	���� $�	� $%���&& 
� ��������� � 
����	 
����	 ��������'
��� 
������

(�������	 
������ ���������� ���
��������! fa(p) � ����������	� f0
a(p)� )���
� � ����� 
�'

�������� ��! 
������� ���
�! 
������
�� ���� ���
��������! f(t = 0, p) ��"���� ����� � *+℄� *-℄�
. ������� *%/� %%℄ ���� ��0�� ��"���� #��� ����
�� 1�� 
������� � #��� �������� ���	�����
�'
���� 
���	� ���	�� �� 	���� ����	������� ��� ������	
�������� �����	�3 %&� �����������
��	
������ � ���
���������	 f0

a (t, p)� � �&� �������������� ���������	�
�� ��	
������ � ���'

���������	 ∆fa(t, p)� 
��
�	 
���� 
����� � ������������� ��	
������ 	���� �� 
������� ��
#������� ����0� �����!� 
������� ��� 4������ ��	���� � 
�� � ������������� ��	
������ �	
�� '
�� ���� 
����� ����� ��"� ���������� 
������� � ��� ��� �� �	
�� � 
����� ���������! ����
���������� 
������� #�� 
������ ���������� ��� �� ������"��� ��
���! ����	��������! ����'
�� ��	������� ���	�������� �! �� ����	 ������	� 
������ � ����������� ��	
������� 
�������!
�� ���� #������� )�	���	� 
�� ����
����� 
������ �����������! ���������! � ���	�����
�����

���	� ����� ��������� �
������� ������	��� 
�������� 
���� 
������ ñ� � #������ ε̃� $%�%-&�
$%��/&� 
�	 ������������0�� �	 ���
��� ����!���� 
��������� ��� ��� �	
�	��
�� ��	�
	���

��	�	���	
���
� �	�
	�
 ����
 ������ � �	�
	� �
������ ��
�������0��� #��	���� ��5�	��
(�������	 �������� ������������ $%�-& � �������

p ≥ p0 ≫ T. $%��6&

.��������� ����������� $%��7& � #��� ������� 	���� 
�������
 �����������!	� �������
�����

����� 	���� ������ ������
���!� �
���	 �����!��! �������
����� 
����� �� ������������ 8�'
#��	� � ��������� ������������ ���
���� ������ �� �	
�� ���� P ′ = p − ∆� ���� q′ = q + ∆
������ ����� � ��
����� �������� ������� � � �������
������ �� ��������	 
������	� .�� #���
������� 
���������� ��� ���
���� ��������� ������������ 
�����
���� 	���� .��������� #��'
�� �����!��� ���� �����	 
����	 � �������� ������� $%�-& 	���� 
�������
 � ��� ��� �� 	�'
��� ������������ � 
����	 � ���	
����
���� 	���� ������!� ��	�����! 
���	����� x � ϕ3
x(1 − x) � T/p → 0� 4�������
����� ������� ���� [1 ± fa(p

′)] � 
����	 
���� ��������� $%�-&
	���� ��	���� ����
�� �! �� ������� �
!� '���� ��" � ������� ��
����� ���
���� �	
�� ����
. ����� ���� � ��������	�� ��	� ������� ���
���� �	
�� ��� �������� ������������ $%�-& 	����
��
���� � ����3

Jab↔cd(p)|p≥p0
=

(2Sb + 1)∆fa(p)

(2π)3p

∞
∫

0

qf0
b (q)dq

√

m2
b + q2

2p(q4+q)
∫

2p(q4−q)

ds

16π

1
∫

0

dx|F (x, s)|2. $%��9&

(�
�� ��! ���� �
��������� 
������ ��
���! �����!��! *%℄ $����&� 
���
�	 �� $%��9&3

Jab↔cd(p)|p≥p0
=

(2Sb + 1)∆fa(p)

(2π)3p

∞
∫

0

qf0
b (q)dq

√

m2
b + q2

2p(q4+q)
∫

2p(q4−q)

σtots(s)ds. $%��:&

8�������!!� �������� �� ���������� �������� ��������� ��! σtot � ���	� ;<=>� *%℄ $���:& �
$���+&� 
�����! �������������� � �������	�
����� ��
���� � � ��		���! 
���
����� ���������

� ���	 ������	 �������� �����	 ����
���� ��3

Ja(p)|p≥p0
= − 4

π
∆fa(p)

∑

b

(2Sb + 1)νab

∞
∫

0

q2f0
b (q)

√

m2
b + q2

dq

Λ(s̄)
, $%��+&

���

s̄ =
1

2
pq,

νab � 
���� ������� �������� � ������� 	���� �
�������� 
������ ����� a�
.�
����	 ���
���! ��������� $%��+& � 
����� ��� ���
�!��

���� �������	���
�
���
�� ������
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� 	� 	�����
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��
� ���

���

���� ��	
�	��

� ������
 ����� b 
�������	�������� ����� q ≪ mb� �� �
������ ������ �	������ �
	
����
���

Ja(p)|p≥p0
= −32π2∆fa(p)

∑

b

n0
b(t)

mb

νab

1 + ln2 pmb/2
, (mb > T ). ������

���� ������	
� 	� ���
������

�
�
��
� ���

���

���� ��	
�	��

� ������
 ����� b �	������ �� ���������	������!�� ����� mb ≪ T � "����! �#
#�!������$ "���
���� !��� % µb ≪ T � �� 	
������ �
������ ������ ��
������ 
� ��	
�	��
���
���"������
�� ������� 
�$��!�

Ja(p)|p≥p0
= −4π

3

ÑT 2(t)

1 + ln2 Tp/2
∆fa(p), (mb ≪ T, µb ≪ T ), ���&'�

���

Ñ =
1

2

[

∑

B

(2S + 1) +
1

2

∑

F

(2S + 1)

]

= NB +
1

2
NF ;

NB % ����� �����	 ��	
�	��

# (�)�
�	� F % ���!��
�	�

+��(
 ���
�� 	����
 	 �
������ �����
�	�
�$ 
�������	������# � �� ���������	������#
������ 	 ��	
�	��
�$ ��!"�
�
��� 	
�����! �
����� �# ��
��
������� ,�
��
������ �� �������-
��	������# ������ 	 ������$ !����� "��������� �) 	
����
�� ������ ��� ��
���� ���"������
��
��	
�	��
�$ ��!"�
�
�
 "�����
�	��$

E(p) = p; µa = 0 ���&��

	 ���!��� ��� �"������
�� "���
���� ����� ������ ��!� .�℄��

na(t) =
2Sa + 1

2π2

∞
∫

0

fa(t, p)p
2dp. ���&��

0���! �(��)�! 
�$��! ��!� .�℄ ���&����

na(t) =
(2Sa + 1)T 3

π2
gnζ(3), ���&&�

��� gn �"���������� ����
�1�
��!� ���&2�� ,�
��
������ 
�������	������# ��	
�	��

# ������
��� ������� ��	�
����
 �	 ����
 �)!�
����� "��"�����
�� 
� a−3(t)� 3�4��!� 	 ����	��# ���(���

���1�
�� ��	
�	���� ��
�1�
�� "���
���� 
�������	������# ������ � "���
���� �������	
#
����
�	 "��!��
� "�����

� ���� ��� T ∼ a(t)−1�

n0(t)

nγ(t)
≈ 56789 = δ ∼ 10−10 ÷ 10−9. ���&��

:
������ ��
�1�
�� 	�����	 	 �
������ �����
�	�
�$ 
�������	������# � �� ���������	������#
��	
�	��

# ������� "�����!�

Jnon/Jultra ∼ 24πn0
b

mbT 2
= ζ(3)δ

64T (t)

πmb
∼ 10−9 T

mb
, ���&;�

% ��
�1�
�� 	�����	 !��� "�� T ≪ 109mb � �!�
 1����� �� 	��!�
�!� 3�4��!� 	 ��� 
�$1�!
	�����! 
�������	������# ������ 	 �
������ �����
�	�
�$ (���! "��
�(����� �
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��
�� ������ ���������� ��� ������ �������������� ��

�� �������	
� ���
��������� ���������� �� 
���������� ����
	��

���� �����	�
�� 	
��������
�� ��	��


�� ������������
�	�	��� 	����� �	�������

������	
�� ��

������ 	�������� ������ �
� �������
� ���
���	���� 	 ������������ 
��	�����
����� �� ��

�� ������������ 
��	������ �����	�!"�� #	�
!$�! 

%�����
���	������� �	��&'
���
�	�� �� ������� 	 ��	��	����� ��� �
��������� �
�( �)

p̃

a

∂∆fa
∂t

= −4πÑ

3

T 2(t)

Λ(p̃T/2a)
∆fa. �����

*����������� 
��	����� ����� 
���� ��������
���� 	 �	�����
��&� +
� 
��,��	� 	 ��
%���-� 
�����
%�� 
����� ��� ���	�
 ���� ����� p̃� ��� #�� 	�(������ ���,&��� ���% �����������
	�
����� ����
%(
� �& 	 ����	��	�����  ���
�� � ����	����	
!"� � 	�
����� � ������������
��� �
���������� �$������� �����
%�
 	�� ��,
!��� �� ��� �
��������� ���� ���� ����������'
��	��� 
�� 	 ��� ���& ./.� ��� #��  � ��
��� � ��% ����� �
�(� � �	� ����������  ���
�
0��
�����) ���
%�
! 1 ����	��	���
!  ���
% M �  �������������� � ���� ���� � P (t) � ���'
�
%�
! 1 ��	��	���
!  ���
% M0� � �!"
! �� ������  � ��� 	�� ��� t ���������  �������'
�������� ���� ���� P0(t)�

���� ���� 0��
���
! � 

%�����
���	������ 
��	����� ��������� �����(���
% ,��������
ρ = 1/3��)

ε = 3p. �����

3���� ���
���� 
��	����� 4��-����� �
������% #������ 0��
����� �� 

%�����
���	�������
������ ���-������ �( ������� �� (����
)

εa4 = /5678; ε =
1

32πt2
, �����

�  ��-��,��� ������ �( ������� �� (����
)

a(t) ∼ t1/2. �����

: ��
��� �������� �
������% #������ ��	��	����� �
�( � ������
����� ����( �� �� �����
�

������-���� ;�℄ ����=�)

ε0 = N
π2T 4

15
. �����

��#�� 
� ��
� ,� 0��
����� ,�
� (���
���� 	�
��� ��	��	����� �
�( ��� �� �� �����
�� T0(t)
�( ���
��% ,� �� (����
 �� � ;�℄�)

N1/4T0(t) =

(

45

32π3

)1/4

t−1/2 (∼ a−1), ���>�

1 (���%  � 
����	�� 	�( ���
! �
�,
! (�	��� ���% #������	���� ���
� ��	��	����& ����	
�����$ �� 	�� ���� N(t)� ?���� 
����� ��� 


 ������ �
��
!"� �,��(� )

p = p̃N1/4T0(t). ���@�

:��
���� #��� ��� 

� � ��
 � �

%���� ���� ����� p̃ ����	) � 	�
���	�� �� 
��
����� ����

��	�
� ������� ������� p̃ ��	� �	������� ������� 
��	�� � �� ������� ������� �� �	�	 ��

�����	 ������� � 
���
��������������� �
�	����
�	����	���� ���
������
3��� �,��(� � ��-�� ������������ 
��	����� ����� � 
���� ������-���� ������ � ���@�� ����� 

��� ��-����)

∆fa(t, p̃) = ∆f0
a (p̃) exp



−ξ(t, p̃)

p̃

t
∫

0

y2(t′)dt′√
t′



 , ���=�

��������� ��	 
����
�� � ������� ����� 	
�
��	��� 	�	�
���
���



�� ����� ����	
��

����
∆f0

a (p̃) = ∆fa(0, p̃),

� �	
	���
� 
���
����� 
� �	��
������ ������	 ����	�����	� ��������

y(t) =
T (t)

T0(t)
�����

�  	�	����� ��	�
 �	����!�" 
�  �������#$ t, p̃�

ξ(t, p̃) =
4πÑ

3
√
N

(

45

32π3

)1/4
1

Λ(p̃T T0/2)
. ���%&�

'�����(���) p ≫ pT ≈ T (t) �

��������)� ��	
���� p̃ ≫ 1�
'
��
���� T (t) � ��� ��	���	 �	��
����
" �
� 
����#  �	��#� 	 T0(t) � ��� ��	���	 �	 �	�*

�#" �
���� �������  
��
���) �	��
����
" +������
"� �����	 �# 
������� ���
����

y(t) ≤ 1. ���%%�

,�� �
�
� 
�
�# �#��  �	�����#� ��-����� ������
����$ ��	�����"� ������� ∆fa(t, p̃) �

��� ������	 �
�(�	 ��
�����
���� ������	���
�� ���
��) �%��.�� '
��
���� �
��	��
 ��-���)
���/� 
���
����� 
� �	��
����� ������� �	� ��������� ∆fa(t, p̃) ���
�
 ��#�	�� �
 ��������� ���
� �	������
��� ��-���� ���/� �
��	�

�
� 
�
�# ������� ∆fa(t, p̃) ��
�����
���	 ���
��) �%��.�
� �	
	���#" �
���� �������� 0�
 �	���

∞
∫

0

∆f0
a (p̃)p̃

2dp̃ ≫ 2

N3/4
y30 , ���%��

��� y0 = y(0) ≤ 1�

���� �������	
� ���
��������� ����
	 �� ��
����
�
������ ����

 ���������

�	���
���� �� ��� +�������) �	 ��������������
� 2�	 � �	�-������� + 2�
� ���
	� ��	������
�
��
���� ����

p = 0 ���%.�

� �	�-�	��#" �	��
� ����������  
 �	�
���

a(t) ∼ t2/3. ���%3�

'�� 2�
� ����� �	���	����	�� �	������� ����$�� �
�#$ 
	���� �	 �	��
����#$ ����	��
�#$ ��*
����
�#$ 
	����	$� �
�
�#$ � 454  ������
 � 109 �
��-� ���������������$ 
	����� '���� t0
� �
���� ����# �����	������������
�
 ��	������ �
��
���� ���������������� � ���	��
����
"
+������
" � T 0

γ (t) * ��� ��	���	 ������
�#$ �
�
�
� � �	��
����
" +������
"� 6
��	�

T 0
γ (t) =

(

45

32π3N

)1/4
t
1/6
0

t2/3
. ���%7�

8��������� ������
���
� ��	������ ���%�� �	"��� � 2�
� ���
	��

∆fa(t, p̃)=∆fa(t0, p̃) exp



−χ(t, p̃)

p̃

t
∫

t0

y2(t′)dt′

t′2/3



 , ���%��

��� ∆fa(t0, p̃) 
 ���������� ��-����� ���9�� 	

χ(t, p̃) =
4πÑT 0

γ (t0)t
2/3
0

Λ(12 p̃T
0
γ (t))

���%/�

� �������
 ����)!�"��  	�	����� Ñ 
 ���������� ��� ����	��
�#$ ������
�#$ 
	�����
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���� �����	�
�� 	
��������
�� ��	��
 
 ������������
�	�	��� ������

�� �����
������ 	����� �	�������

�������	
� ����	
 
�����
����� ����
� 	���
	��
� ���������� ������� ��������
 ���	�


������ ����� �� �	�����
� � ��������
� ���	�

 �����	���� ���� !��
� �"	����� ������"���
�����	 ��������� 
��������� �� ������ #$℄ &$ $�'�(

a = a1e
Ξt; εS =

3Ξ2

8π
= Const, &� $)'

� �����	���	� 	���������� ���������� 
��������� �� ������ 
������
� �
�
*������ 
����
��
*���
� T ∼ a−1� ��������	
�� 
�� 
�����
����� ����

 �������������� �����������
�
������
����
�� ��

�� ����� ��	
�� ����
���
� ���
����� � ������ ������
 t1� ����� �� 
�����
�
����� ����

 T = T1 exp(−Ξ(t − t1))� ������
��� �
���

����� �������
�  !�"# �� 
�����
�����
����

� ����

�$

∆fa(t, p̃) = ∆fa(t1, p̃) exp

[

−4πÑ

3p̃

T 2
1 a1

ΞΛ

(

1− e−Ξ(t−t1)
)

]

 !�"%#

��
 &����
' �������' 
�����

 Ξt ≫ 1 (��������
����� ����'�)*
� 
����� �  !�"%# ��	��
�����&��
�� 
 �+ ����

�$

∆fa(t, p̃)

∆fa(t1, p̃)
≈ exp

[

−4πÑ

3p̃

T 2
1 a1

ΞΛ

]

= exp

[

−4πÑT 2
1

3p1ΞΛ

]

,  !�!,#

��� p1 - �
�

���
� 
������ �� ������ ������
 t1� ���
� �&������ �� �����������	 
�����

��
������� ���
��� ��
���������� �� �������
�� ���
����

� �� ����
�� �� �������� 
�������

��� ������� ������
�� 
 ��
����������� �� ������ 
���� ������ ��
��������

���� �����	
 ����
������� ������������
����� �������
���

��������� ����
�+ ��
���
����
 ��������
������ �
���

����� �����
  ��� ."!℄#� 0�����
��

�� ��������

����� ����� t �+

������� � ���������
' ��
�
��'� ��(���� ����
���� ����������
�+� ������� � ��	�� �
 ������������ �������
 �����

�����  �����������# ��'��
�
 �� �������'
������� ���������
'1 2����
�� ��
���
����
 ����
�����

������ ��
���
� 
���
� � ��������
�

����� �
����

 �������� ���������
�� �+����)*�� 
� ���������
� ���������������
 �������
&����$

Et ≫ 1.  !�!"#

4 ����
��)*���� 4�������� �
���

����� (����
� 
���
� 
��������� �&����� �������
�������
������&���� �������� ���
� �&������ �������� ����
�����

����
� φ = Et� �����$

Et = γ
a1t

a(t)t1
= γ

(

t

t1

)

1+3̺
3(1+̺)

,  !�!!#

��� γ = E1t1� 5��)�� �������� 
�� ��
 ���������� &�������+ ̺ > −1 ���


�� ��������� ����
�
�����

����
 ������ �� ��������� ����� 
���
�+ ���������� ��� &���� �����

���
�
� � �� ���+'
�������' ����
�����

����� ��	�� &+�� ��������� 4 
�������
� ��� �����������
�
������ 4���
������ ��������  !�6# 
  !�7#$

E = p = p̃

(

45

32π3

)1/4

t−1/2.  !�!8#

��(���� �����
� ��
���
����
 ����
�����

������ ��
���
� 
���
�  !�!"# � ���
�� �����������
�
�
������ 4�������� ��
�
���� �
�$

tp̃2 ≫
√

32π3

45
≈ 4.70.  !�!9#

��� ������	� 
 ��
� ����� ������ �������� �
��
	
������
� �
��
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� Λ �� Ξ� �
��
	��� ���

	 Λ � ��� ���

����� �
� 
�
�������� 	
�����������
�
 ����
�� ��������



�� ����� ����	
��

��� t ∼ 1 ���	
��
���� 
����� �	��� �	�������
�� ���	
�	
� ��� ����	���
� ������� �
	��
��
��
����
��� �������	 p̃ ≫ 1� ����� � �	� �	� � ����
����
�!� �
��������
 � �	���"	�# $	���
���	���� ������������	��
	 
������	 ���
�� ����	���
 �� �����
����� ��	�	��� ��
����� ��	�

�	��
� � 
	� �
���	� �
�

�	��
�
��� �	� �
���	 ��	���� ���
�� 
	��
�
� ��	����# $	���
���	���� ����	
�� %
��!"�� �
��������
�� �
��	

�
��
��� �����
�
� 
� ������� �
	
��
���
�	�������
�� 
	 
����
	� ������	 ��	
��
���� � �	&� ��
���� ��#

���� �����	��
��
 ������������
�
 
����	�� ������ ������ � ��		�� �����		
�

'��
��	�� � 
����� 
������ 
	������� �����
�� ����� ��	������������ ����	
�� 	
�	����
�	���" 
 �	

�� '����

��( )����� ��
���� ��� ����� ���� ������
	���� ��
������ ��
�"�� �	�*
�������
�� 
 ��	��������� �� ���� 
���������� ���� 

���� �
���
��� ������
�	 �����&	����
����	���
� ������� ����� �	���" ���# +,-℄�/

Na(t) =
4π

3
na(t) ∗ t3 ≫ 1. ��#�0�

1�� �����
 � �	���" ������� ���!�	 ���# +,-℄�/

0, 3
√
t

N
> 1. ��#�2�

$#�#� ������� �����
�
�� ��	������������ ������	 � ������� �	���"� 
	����3���� 
 �����
�� �	
*

�
���� � 
���
 � ���������� ����
"�	���� 
����&
� ��� 
����
	�� ������� ��	
��
����# 1��

�
��������
 � �	���" n ∼0
na (t)/P3

0 # ��%���� 
 %��� ����	� ����
�� ��#�0� ���
��	�� 
��/

0, 3
√
t

NP0
> 1 ��#�4�

�� ���
��
�� 
������
�� ����
�� P0 ≫ 1 ��&�� 
 ���
����� ���� 
� 
����
	� ���	��� �������
��	
��
����/ t ≫ 1# 5�
	��� %�� ����	��
� ��	
���
�� 
 ��3�� ����	� �	���&��
�� 
�&�	����

 ��3���
�

�� ����
�
�� ��� �	�������
�� ��������������� �	�	�# 6� �
	
��
�� ������ ����
�������� ��� ����
��� �����
������ ��
���� �	���" ����
����� ����
�� 
�	��������
��� 
���*
��
���� 
�	��������
�� �
������ �	����� ������
�
���� �	�����
 
�	��������
�!3�� �	���"
λk = 1/E �� ��	

�
�! � �	�	����
 � �	���	��� 
���
����
���� ������ # �����
�����
� �
��������������� ����	"�� %�� �����*�	�� ���
���� � ����
�! ��#�,�# ��������� ��
�������	�
%
����� �	���" ����
����� �� 
����
�� ���	�
� ������"��
	��
� �	���	�
��� �	������ ����
��
$	��� ���	���� 
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��� ������
�	 �	&� ��� 
����
	� ���	��� ��
���� ��	
��
����
�
��������
 � 
�	��������
�!3�� �	���" ���	����
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����� ��� �
���
 �� ��7*
��	�� ��%���� ��� 
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���� �
���
��� ������
�	 ����	
�!��� ��
���� 
	�	��
��� � ��
��
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�� ������
��� �����
	����
�� � �� 
�����
���� 
	�������� 
 %��� ������
��� ��&
� 
 �������
�� �
 � ���	���
# '������ �����
	����
�� �	��!�	���� 
 ���� 
	������� %�� 
�����
����� ��	*
����
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��
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���� �	��
( 8�
�� ��� ��
���� �	��������������� 
	��!�	���� 
 ���������������
����	"�� �������
� ���� ��� 
����
	�� ���	��� ������� ��	
��
����� ������ ��7�� ������	
�	���� 
	��!�	���� ���&�
 � ��� 
�*���
 �� ���	��� ������ ��	
��
������ 
�*
��� �� 
� ������
��7��	 �
���
��� ������
�	 �� 
*�������� * 
��3	�� ���� ����	���
� ������� ����� �	���"# $	���
���	���� 
���� �	��������������� 
	��!��
��� ����	 ��	���� ���
���� ��	����������� ������
��
� ����	���
�� �����
��
����!� ���&
� ���
���
����� ����
�! ��#�4�# $�� 
� ��
��� ������

��

	 %��� ����
� 
����
� ��	����������� �	��������
�� ������
� � ��� ����� �	

�� 
����
� ���� �

	� ���� �	�	
��� ����� ��� %�� �	��������
�� ����	
����� 
 ����
�� ����	���
� ��
����
 �� �#�#�
���� �	�	����
 � �	���� 
���
����
���� ������ � λ1 = λ(t1)� 
	 ����
� ������
�� t1 ���	���
������ �
���
��� ������
�	/

λ1 ≫ t1 ⇔ h1 =
λ1

t1
≫ 1. ��#���

����� ������ 	
��
�� � 	��� ������
��� ����������� 
� ��
��� ���������



�����������	� 
�����
��
�� ������ ���������� ��� ������ �������������� ��

�� ��� �	�
�	�
 �	�
��������� ��������� ���������� ����������	���� �	�
�	����� �	�����
a(t)� ������� ������� ��	 ���� �	�	����	 �!����!������ h(t) = λ(t)/t� �	���"

h(t) = h1

(

t1
t

)

1+3̺
3(1+̺)

. #�$��%

&������ ��� ��	 ���� �����������	 �	������
 ̺ > −1 � ��	������ ��������� �	 ����� �	���'
������	' t < t1 ��'�	������ ����
���� h(t) > h1 ≫ 1� ( �$�$� ����	 ������ �������)� )�������	 �	
�	���' ������	' �������� ����� �!����!���  �� �	 ����� ���!��' ������	' ( �������	�� '���
�
�������
� �� ������ ���������� ���������)� ���	 *��
��	+,	�	������	 #��$� �	������� -./℄%$
�� ��� ���	 	���  �� �	�������� ����� ��	 ���� ��������� ������������ ���� ����� ����!����+
�� ���	���
' ������������ ������ ������
' 
	��� � ����� �	�����  �� t1� ������
 �������
��	������ ����
�	�� �	�������� ����� ������� �	����!������$ 1��� �	2�
� !�� ��	�������
�������	� ������ ��	���� �!����!������ ���	 3��!�	�	 � ���	����� �!����!������ �	����!�+
�����  	����$ 4	������  �� ��� !����2���� �	�	����	 ���!����!����� ��	 ���� h1 �
 �����
������ ��	�� �	���	����	�� ���!����!����� ������
 � �	��	' �	�������� ����� ��	����� �����
��!���� ������� ������
���� #�$��% �	 ������	'� ����
�' t1� ������ ��
��$ 4	����� �	�2��  ��
�	�	����
 ��	����	��� ����� � �!����!����� �������� �� �������� ���	��� ����������	����
!��) !��)�$

���� �������	
���� �	
�� 	
���
�	����	
�� �����
��

��

��� �����
�� �������
������ ��
���
������ 	�����

5�2�� �	�2� ���������� ������� �	������� �������	���� �������� ��!���  ��
��' 	��� �
'
��	���!������� !�� ����'������
'  	���� � �������' p̃ ≫ 1 � �	��)�  ���	 ����'������
'  	����
�� ��	������ � ������
��$ &�����  ��
��' 	��� �
' ��	���� ��!	 -.℄ #�$..% ��2�� �	���������
6+ 	��� �
� ��	���� ���	"

a ⇄ b + c, (n = 3); #�$78%

a+ b+ c ⇄ d+ e, (n = 5); #�$7.%

· · · · · · (· · · ).

�	�������� ��	 	�	 7+'  	��� �
� ��	����$ :	��� ��	���� �����2�
 ���� !�� ����	�����
'
 	���� ;<=� �	������� �����2��� �
' >+������� � ���������	�
' ��	���!�������' ?@#�%×@#.%�
'�))���
' ������� � ?@#A%+��!���'� ���� !�� ��	�����
'  	���� � �����
' ���
��' ����'$ &��+
����� �����!��)� ��� 	� �������� ��	���� ���	���	��� ������� ����������+����������� �	�

� ���� �!�	$ 4	������  �� � ���� ��� 	�� ����)� )������ ��	���� �	�2� ��������  ��
��' 	��� +
���� � ������� � 	������ ��� �!�� �����	���
� �����$ � ����� �����!���� ��� 	� �� ���� ��	����
��	�
�	���� ����������	����� ���� �����	��
 ��	���!������� � ���	��� ����������	���	 ����
����)��  	�����  �� !��	�� �	��� ��	���� �	���������
�� �� ��	������ �  ��
��' 	��� �
��$
� ��� 	� 2� ����	�����
'  	���� ��	���� �	��	!	 �����'�!�� ��  	�	� ���
��)� �	���!	����
�� �����"

τ =
τ0√
1− v2

= τ0
E

m
, #�$7�%

)!� τ0 ( ����� �����	��	!	 � ����������� ������� ��� ��	$ B�� �����	�������������'  	�����
����)����� ������
����"

τ =

τ0
∫

0

p

m
dt

� � ���� �	��������� �������	  	���� �� �������)� ����)� ������� ���� ��"

τ = 2τ0
p(τ0)

m
. #�$77%

&���2�� p(tpl) = Kmpl� )!� !�� ����'������
'  	���� K ≫ 1$ C ���!���  �� !�� ��
 �
'
�������	��
'  	���� τ0/tpl = K1 ≫ 1 � m/mpl = 1/K2 ≪ 1$ :	��� ���	���"

τ = KK1K2τ0 ≫ τ0. #�$7/%



�� ����� ����	
��

���� ���	
��	� 
�� ��������
��
 mpl/m ∼ 105� τ0/tpl ∼ 105� �������� ���	
��	� �	
 p(τ0)/m ∼
1010 �����
� 
� ������ τ ∼ 1020τ0� ��� 
��� �� ����!
�� ��� "	��� ��	�
�� 10−23 #$
� ��!
� ���
" � 	���&

 �"�	��"��!�'����!� &
��� �	��	�(�'� � "� "	����� ��	�
�� 10−38 #$
� ���
� �)�
	����� �	�*�� �
��+� 	���&

 �� "�� ��  ���,��
)�
, �������!� "���
� " �	�&�  � ����"���
�
��	��

���
�� ��!� 	�"��"� 
�� -����
�� �
����� ��� �	
 ���� ���
� 	���&

 ��!�� ������, �
"�.�+�
 
�� ��	�
	�"��
� �������!�  � ��"�  "�	*�����"�0 ���������+� ��� ��� 
����� ��

��!�� �	
"�

�, � �
"��"+� �	�&�  ��� " 	����,���� ����	+* �"��
�
"��� � �
 �� 	��
���"+*
�� �
&�

�� ������	
 ��
��
	���
 ������	��� �
	���	���
��� ���������

���� �����	�
	 ��	��
������� �� �������	���
�
����
� ����

 ����
�	�
�

1� ���	� �� ����� ��  	�"���
'  	�"��"� �+� �
 �� ��	�"��"� �+* �� �
&� ���	!
�� ����'����
��� " ��	�"��"� ��� *"� ��� ��.�� ������, � ����
���,�� )��,2�0 ���	!

 	�"��"� ��0 ������
����+� � �
  �(� �"���+� 
 ��.��
� 	� �	�
����
� 
��'� � "  "�	*�����"�0 �)�� �
� ����	+�
��"���'� )��,2
� ������
� 
����, ��0 ��	������0 p̃ ≫ 1� 3"�	*�����"+� �� �
&+�  ����
"�� ,
 	�"��"� �+�
� ��	�
�'� 
�  "�' ���	!
' 
 ���  ��+� 	���!	�"�'� 	�"��"� ��' ����������
�����+� ��� �������	���
�
���
�� ��	�	���� ����� ���� 
�����	 
 �����	 �	�	�
	 �����
 �

������	�	 ������	���� ������ ��	���	������
 ����
���
 45��55℄� 7�� ��*�.
��
� 
 �
���0 ����
��	���	+� T (t)� ��,�	�	����
"
 � ��0 �����+  ������ ��
�!	�"� ��  "�	*�����"+�
 �� �
&��

"� ���,���� � �	�"���
�� ������ �"��'(�!� �  ��
 �"
�� ������  �*	����
� ���	!

 
 ��	�
����
'(�!� ��"
 
�� �, ������ �
 ���	!

� ε� ��,�	�	����
"
 � ��0 8 ������0 �� �� ����!
�� ��!�
"	����
� 9�� ������ �, ���	!

  ��!��� � 
� ������ �
 ���	!

 	�"��"� ��0 �����+� ε0 ������ 

������ �
 ���	!

  "�	*�����"�0 ���������+� ε1:

ε = ε0 + ε1, ���5�

!
�

ε1 =
NT 4

0

π2

∑

a

(2Sa + 1)

∞
∫

0

∆fa(t, p̃)p̃
3dp̃. �����

7�� 
��,��02�!� �
�)�� ""� �
 )��	����	��' ��	������' σ(t):

σ(t) =
ε0
ε

=
ε0

ε0 + ε1
≤ 1. �����

�� ���,�� ������ ������ �, ���	!

 ε(t)  
	�!�0  ��	��+ ��	�
����� � ���"�	��0  �����,' ����
��	���	+� T0(t)� ����� �,' 	�"��"� ��0 8 ������0� � ������ �, ���	!

 	�"��"� ��0 ���������+
ε0(t) ; ���"�	��0  �����,' �����	���	+ T (t)� ""�
����� ���
 )��	����	��� ��	�������  "�����
�	� �+�  �����2��
��  )��	����	��0 ��	������0 y(t) = T (t)/T0(t)� ""�
����0 ���
 	���� ���<�:

σ(t) = y4(t), �����

����
�  	���  ��
��� ��	�"�� �"� ���55��
���
� �)	���� 
� ���5�  ������ 	�2��
� ���=� 
�� ��	�"��"� ��0 ����&

 	� �	�
����
�

�����
� 
���!	��,��� �	�"���
� ���� 
���,�� ����&

 y(t):

y4 +
15

π4

∑

a

(2Sa + 1)

∞
∫

0

p̃3∆f0
a (p̃) exp



−ξ(t, p̃)

p̃

t
∫

0

y2(t′)dt′√
t′



 dp̃ = 1. �����

>� ���!� �	�"���
� " ����"�0 ������ "	����
 �����
�  �����2��
�:

15

π4

∑

a

(2Sa + 1)

∞
∫

0

p̃3∆f0
a (p̃)dp̃ = 1− σ0. ���?�



�����������	� 
�����
��
�� ������ ���������� ��� ������ �������������� ��

���� ������� 	
������
 ���
���������

��� ����		
� �
	����� ∆f0
a (p̃) 
���	�	�� ����� ������ �	������
���� � ��������������� ���	��

�� ! � �������
���� "��������� 	�# ������ $�����		�� t � �
	���� y(t) ������ 	��
! %������
���	
! $�����		
! τ &

τ =
〈ξ〉
〈p̃〉0

√
t ���'�

� %��������	
! �
	���! Z(τ)&

Z(τ) = 2

τ
∫

0

y2(τ ′)dτ ′, ���(�

��� 〈ξ〉 = ξ(〈p̃〉0)# �

〈p̃〉0 =

∑

a
(2Sa + 1)

∞
∫

0

dp̃ p̃3∆f0
a (p̃)

∑

a
(2Sa + 1)

∞
∫

0

dp̃ p̃2∆f0
a (p̃)

���)�

* ����	�� �	���	�� ��$
� �	�� $�����		�� p̃ � ����	� �����	� t = 0� +� ����� $�����	� ���� 
���������������� �����	� t � %��������	�� �����		�� $�����		�� τ � -� ���(�# �������	���
�#
$��
���&

y =

√

1

2
Z ′
τ ; Z(0) = 0; Z ′

τ (0) = 2
√
σ0, ����.�

��� σ0 = σ(0) = y2(0)� /���� $���� �
�����	�� � ��������������� ���	��� ! �	������� � 
���	��
	�� ����� � 
����� ����	�0�	�� ���1� $�����	�� $��������� � ���
 2)℄&

Z ′
τ = 2

√

1− (1− σ0)Φ(Z), ������

��� �����	� �
	���� Φ(Z)&

Φ(Z) =
〈p̃〉(t)
〈p̃〉(0) =

∑

a
(2Sa + 1)

∞
∫

0

dp̃ p̃3∆f0
a (p̃)e

−Zp̃0/p̃

∑

a
(2Sa + 1)

∞
∫

0

dp̃ p̃3∆f0
a (p̃)

. ����4�

5 ��� 	��0�� 
��%	� $������ � 	���� %��������	�� ��$
� �	�� $�����		��&

ρ =
p̃

〈p̃〉0
, ������

��� ���&

1 =

∑

a
(2Sa + 1)

∞
∫

0

dρρ3∆f0
a (ρ)

∑

a
(2Sa + 1)

∞
∫

0

dρρ2∆f0
a (ρ)

⇒ 〈ρ〉0 ≡ 1. ����6�
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log
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��� ����������	� �������	� ��������	� τ
� �	
��
��	� �	��	�	

����	
	 ������
 t � ���
�
�	��
 	� ���������
〈p̃〉0 � ������������	� 〈p̃〉0 = 1013� 1014� 1015� 1016� 1017� 1018� 1019� 1020�
�	��	�	

����	� ����� t 
��
������� � ����� �!� "�# � ��
���	 N = 100�

$	
 ��

Φ(Z) =
〈ρ〉(τ)
〈ρ〉(0) =

∑

a
(2Sa + 1)

∞
∫

0

dρρ3∆f0
a (ρ)e

−Z/ρ

∑

a
(2Sa + 1)

∞
∫

0

dρρ3∆f0
a (ρ)

. %��&'(

)���
 �	* ��	 Φ(Z) �������� �	�	�	��	 ��+��#,�� ����-
�� Z* ��� ��� ���
 �

Φ′
Z < 0, Z ∈ (0,∞), %��&.(

��
��� Φ(0) = 1 
 Φ(∞) = 0� )��# � ��� ����

0 ≤ Φ(Z) ≤ 1. %��&/(

0� 	��� ����
� %��&'( ���1� ��� ���* ��	 ���
 �

Φ′′
ZZ > 0, (Z ∈ (0,∞)), %��&2(

�	3�	�� 
���
� ����-

 Φ(Z) �	
���+�� "��� ���
� ���	
	� �	�	�	��	��
 
 ������+��	�  
��
�����-
����	��
 ����-

 Φ(Z) �	
����	 �������
# %��&4( ����-
� Z(τ) ������ �	 ��	�� ����	�
��	
��	 �	� ����#��� �	�	�	��	 �	������#,
�
 ����-
��
 ��������	� x� 0���
�
��� �������
�
� %��&4(* �	���
��

1

2

Z
∫

0

dU
√

1− (1 − σ0)Φ(U)
= τ. %��&5(

6������+� ��	����� �	�	�	��	��
 ����-
� Φ(Z) 
 Z(τ) 
�����
��#� ��� �	* ��	 �������
� %��&5(
��
 ��1 	� �� ���	� ������

 τ 
���� � 
�������	� ��7��
� Z(τ)� 8�
 ��� ���	� ������


����-

 Z(τ) ������
� ����������+ T (t) %
�
 y(t)( ����	����	� �	��	����+ �	1�	 �	���
��
�	
����	 %��'( 
 %��.( �	 �	������

y = [1− (1− σ0)Φ(Z)]1/4. %���9(
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���
� � �����	��� 	���������� ���������� ���
�� ��	������ 	����� � �� 	��
����� ����� �	������������ � ��	����	�
����� �����

{

τ = τ(Z); �
  �!"#$,
y = y(Z); �
  �!%&$,

 �!%"$

��� Z ∈ [0,+∞) � ��	����	!
'������� 
�� ������� �	���������� �	����(���� ������� ��	������ )��  %!"%$ � ��	����+

��������+ 
���� ����
�� p̃0 � σ0 �	������� ����

N 1/4σ
3/4
0 p̃0 ≫ 1− σ0.  �!%%$

���� ����� �	
���	
 ��
����
 ���
�
	����� ����
	
�
 �
	�
	����

,�	����� ����	� � �����������- ����
������ 	������!

������ �����	
	����

� �
������� ��� ����� ��������

�������	�� ���
��� ���������
����� ��������� 	������ �	� ����+ ���������
����+ �	����
��+�

t → 0 ⇒ τ ≪ 1.  �!%�$

��
����� ��������	������ ��	�(���� � �	���� 
����  �!".$ � 	�� �����	� �� �������� �������
Z� ����
�� � �
���� ��	��������  �!"%$ ���������
����� 	�
��(���� ����/�� Φ(Z)�

Φ(Z) = 1− Z +O2(Z).  �!%0$

,���������  �!%0$ � �	�������  �!""$ � �����	�	�� ����
����� �	������� � �
���� ��
�����+
�������  �!"&$� ������ ���������
����� �	� ����+ �	�����+ 	�������

Z = τ
√
σ0 + τ2(1− σ0),  �!%.$

������ � �
����  �!"&$ ����
���

y(t) =
√√

σ0 + τ(1 − σ0).  �!%1$

2��
�� σ0 ≪ 1 ������������� ����� ��������� 3��	��� 	���������� ���������� �� �	������- �
���������- 3��	��� ��	���������� ���������� ���
�� � ������ �	����� t = 0! 2�������  �!%%$
	������	���� 3���� ���
�� ��	������ ��� �������
�� ������+ 
��
���� p̃0�

〈p̃〉0 ≫ σ
−3/4
0 .  �!%4$

5 3��� ���
�� ����
�� �
  �!%1$ ���������
����� 
���� �
������� �����	���	� � 	����� 5������
����

T (t) = T 0
γ (t)

( 〈ξ〉
〈p̃〉0

)1/2

t1/4 ∼ t−1/4  �!%6$

� �����	���	� ���
�� ������ ���������� 
�� � 787� �� �� ��(��� ������ ������ �	����� 	��
������ �����	���	� ��(�� 
�� �����������-9�� �����	���	� 787�

y(t) ≤ 1 ⇒ T (t) ≤ T0(t),  �!%#$

� �	���������� � ��������� � ������	�� ������ �	����� t! :����� 3�� �	���! ,���������  �!%6$
� 	������  %!6$� ������ 
���� 3���-/�� 	���	�������� ���	+�������+ 
����/ �� 	����� ������
5���������

∆fa(t, p̃) = ∆f0
a (p̃) exp

(

−〈ξ〉 2t

〈p̃〉0p̃

)

.  �!�&$

2�������  �!%6$ �  �!�&$ )�� � /���� ����������������� �� �	�����

t > t =

( 〈p̃〉0
〈ξ〉

)2

,  �!�"$

� 3�� � ���� �	��� ������������ 	���������! �����	���	� ���
�� �	� 3��� ��������� ������ 	���
��������� 
��
���� T0(t)  �	� 3��� ��� �	��� ����� �� �	������$! ;������ ��� 
����/ � 3��	������
�������� �	����� 〈p̃〉0� 	��������� �9� �� ���������� � � 3�� �	���!



�� ����� ����	
��

������ �����	
	����

� �
������� ��� �
����� �������� � ���	������	����	�

� �������
�

������� t > t 	
 ���
���������
 y(t) ≈ 1
 �����	� ��	�����	�� ����� �� �����	� �������� 

∆fa(t, p̃) = ∆f0
a (p̃) exp

(

−2
ξ(p̃)

√
t

p̃

)

; ������

���	� ����!��
 ����� ����������	� ��������� ��������	� 
�� ����	" � 	�������� p̃ ���� 

tp̃ =

[

p̃

ξ(t, p̃)

]2

≈
(

p̃

〈p̃〉0

)2

t. ������

���
����#	�
 ��� � ������	 �����	� !�����	$ p̃ ��������� ������
����	� �����������%� ��&
��	" '��������	������ �������%� !������ 

∆f0
a (p̃) ∼ p̃−λ; (p̃ ≫ 1; λ > 4). ������

(��
� ���
��� '����	� �����������%� ����	"
 E1(t)
 
�� �����%� �������� ��������	� � �������
������	 t �)� �� 
���	�����
 ����� 

E1(t) = ξ(t, p̃)T0(t)
√
t ≈ 1

Λ(T 2
0 (t)〈p̃〉0)

∼ *+,-. ����/�

0 �����	����	 �� !��	�	� �� ������	� 1%�� 23℄ ����3� �
�� ���#� 2�℄� �% �������	
 ��� �� �����&
�����$ ���
		 1/Λ ∼ α2
 �
� α 0 ���������� �����$ ��������%� (��	� ����!��
 �������� 	! ����/�
�"���� 

E1(t) ∼ 10−4 ����6�

0 � ��%��%� �
	�	"�� E1(t) ∼ 1015 789 0 ����
 ���	����%� ����	"%
 	��:)	� � ����������: '����
'����		 ����
�� 	 �%�� ����������$ '����		 1��	���� ��;�
	���	�
 ����
� ����:��� ����������&
�%�	� <��� �%��
 �������� ��	�"	�	����� ��#�%� 
�� ��������	����	� �"����	���

����� �����	
	����

� �
������� ��� �
����� �������� � ������	����	�

� �������
�

��������	� ������ '���:"	: �����������%� �����������	�	����	� ����	" � �������	�	�����$
1�������$
 � ������$ �������� ��������	� � ���
��� �#� �������������� ������� � '��� ������
y = 1 � �%��#��		 ���36� 
�� ����"		 ������
����	� �����������%� ����	"
 �����	� 

∆fa(t, p̃) = ∆fa(t0, p̃) exp

{

−3(πN)1/4χ(p̃)

p̃

√
t0

[

(

t

t0

)1/3

− 1

]}

, ����?�

0 ������
����	� �����������%� ����	" '���:"	��	���� ��
������
 ��� ������� 1���� ����������	�
��������� ��������	� 
�� ����	" � 	�������� p̃ � '��� ������ ����� 

tp̃ � 1√
t0

[

p̃

ξ(t, p̃)

]3

, ������

� ���
��� '����	� �����������%� ����	" ��
����� ��
��� � �����	�� ������	 

E1(t) �
N√

NΛ(T 2
0 (t)p̃/2)

(

t0
t

)1/3

∼ 1015
(

t0
t

)1/3

789. ����@�

1 ����������: '���� '�� ���	�	�� ����
�� 1012÷1013789 ��	 ���	�"		 t0 � ���
���� 109÷1012-8
�

1 ���
�:)�$ ������ �% ��������	� ���"��� ��!������ ����������$ ���!�% �����������%�	
����	"��	 �� 	����"	����$ ���
		 ����	���	� 1�������$�
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